
Parts Breakdown 6905B

Page 1 of 2 8/18/2010



Parts Breakdown 6905B

Fig # Part ID Part Name Quantity

Products with multiple versions are listed in subsiding order with the newest version on top not indented

 1 253937-2 F. WASHER 18, 6905B  1
 2 132383-1 ANVIL,6905B  1
 3 322246-1 HAMMER 6905B, T2  1
 4 216008-6 STEEL BALL 4.0, 5007NK  20
 5 216007-8 STEEL BALL 6.4, 6905B  2
 6 221849-7 S. GEAR, 6905B  2
 7 256033-5 PIN 6, 6905B  2
 8 253794-8 F. WASHER 18, 6905B  1
 9 321118-7 SPINDLE, 6905B  1
 10 253751-6 F. WASHER 24, 6905B  1
 11 231261-3 COMP. SPRING 24, 6905B  1
 12 253793-0 F. WASHER 22, 6905B  1
 13 421157-8 BUMPER, 6905B  1
 14 156544-9 HAMMER CASE, 6905B  1
 15 152145-1 BEARING HOUSING, 6905B  1
 16 211031-6 BALL BEARING 608LLB, 9227C  1
 17 241622-9 FAN 62, 6300LR  1
 18 515131-7 ARMATURE, 6905B  1
 19 411601-3 BAFFLE PLATE, 6905B  1
 20 625116-6 FIELD, 6905B  1
 21 681614-0 INS. WASHER, 9031  1
 22 210025-8 BALL BEARING 627LLB, 4324  1
 22   211026-9   B. BEARING 627LLB, N9514B  1
 23 262010-7 RING 18, 6906  1
 24 159161-4 MOTOR HOUSING, 6905B  1
 25 253929-1 CUP WASHER 5, 6906  4
 26 262001-8 RING 5, 6906  4
 27 922903-7 H.S.H. BOLT M5X50, 6905B  4
 28 921226-0 HEX BOLT M5X18, 6905B  2
 29 285015-0 BEARING COVER 34, 6905B  1
 30 815442-3 NAME PLATE, 6905B  1
 32 191947-0 CARBON BRUSH 76, 6905B  1
 32 194972-0 CARBON BRUSH SET CB-76, 6905B  1
 33   643550-8   BRUSH CAP , 9031  2
 37 911106-8 P.H. SCREW M4X8, NHP1310  1
 38 651564-3 SWITCH, DS4000  1
 39 263002-9 RUBBER PIN 4, HR2400  1
 40 687002-9 STRAIN RELIEF, 9217SPC  1
 41 911133-5 P.H. SCREW M4X18, N9501B  2
 42 265349-7 HEX BOLT M4X50, 6905B  2
 43 411600-5 HANDLE COVER, 6905B  1
 44 911168-6 P.H. SCREW M4X40, 6905B  1
 45 664064-4 CORD (2X18X8 SJ), HR2400  1
 46 682502-4 CORD GUARD 8-85, HP2010N  1
 48 261074-8 NYLON WASHER, 6905B  1
 402 181937-1 STEEL CARRYING CASE, 6904VH ,T1  1
 402 824698-7 PLASTIC TOOL CASE,6905H  1
 903   323675-1   RETAINING PIN FOR 1/2 IMPACT WRENCH, 6905B  1
 907 819003-1 MAKITA LABEL, 5057KB  1

Page 2 of 2 8/18/2010


